Installation |vws’rruohoms

elcussioh p -
l¢’~ 1. Locate Tembos frame
4/ onto posts and, and bolt
- into place using pre drilled
r ey g holes, 2 bolts per post.(See
. Assembly Guide) Y, QO
GrOUV\d Fixed 2.Excavate 1 hole for N P
T Tembos W300xL900 by ™~
embos . .
Page 1 0f 3 800mm deep in desired
location upon decision from O
p
customer. (See Ground Fix
\\!’ost Installation sheet) i J o
ﬁ. Locate frame into hole\\ N 1 0
| according to customers ‘ M H
preference. Once happy fill
holes using rapid hardening O
concrete. Be sure to
Instrument compact concrete around
Components: legs and leave to dry
according to manufactures IS ’
’ 12 | guidelines. "‘ =] N
\\ / WA AWANWAWL W
M10x100 Security Screw - \ b I I
4. When concrete has set
’ X6 fix each Tembos tubes to
M6x20 Security Screw the frame using M10x100
security screws. (1.2) | |_Groundsurface ® | | | N o
“ x24 /
M10 Flanged Slide Bearing 5. Finally attach the steel - | a B
VI brace bar to the under side
M Saddle Strap of the Tembos tubes into KS2 - 800mm
the pre drilled holes using
SN ox screws provided. (1.3) K51 - 950mm
Pin Torx bit ] ‘ 1.2 q P
‘/ Weight of heaviest part kg (Tembo Frame) o _ _
‘/ . Spares available form
B ‘ Pii;dezspf;;e Ground Fix ‘ ’ x2 e . pero?xsqowplay.aguk' or from 80 Kg
Components: M10x70 Security Screw  M10 Barrel Nut your local distributor

BSEN 1176




) csion Assembly Guide PPTEMB

F] O Tools:
Y
® O < x1 % x1
Outdoor Musical Instruments TX 30 Driver Bit ~ TX 45 Driver Bit

for everyone, everywnere,
\' x1

&round le@d Pin Hex Driver Bit

Q

Tembos
Page 2 of 3

( ‘ 140
— 9

(@)

—h
—

a aa

f—

G— 4

— R SEEEES

Instrument
Components:

b 1 I

Y
1 [} 1
COMPONENTS LIST:
x12
< Saddle Strap X2

M6x20 Pin torx X6

M10x100 Security Screw

)xe

M6x20 Security Screw o

“ x24

M10 Flanged Slide Bearing o o = pra— a

f\’xz

M6 Saddle Strap

M10x70 Pin torx X2

M10 Barrel Nut Pin torx X2

M10x100 Pin torx X12

M10 Black Slide Plastic Bearing X12

SS Brace Bar X1

M10x600 BZP Threaded Bar

M10 Nut X2

H a nll

y

Made in, ‘ Pair Neoprene Ground Fix ’ 2

Bntaln Paddles X1 ComponentS: M10x70 Security Screw  M10 B I Nut
BSEN 1176 Y arrel Nu

o Spares available form
x2 percussonplay.couk or from 80 Kg
your local distributor




2rcussio
b
®

Outdoor Musical Insfruments

for everyone, everywnere

I Ground Fixed

Tembos

Page 3 of 3
)

Components:

@XZ

M10 Barrel Nut

-

M10x70 Security Screw

Made in,

Britain
BSEN 1176

Ground Fix Fost Installation
_/\/-—
_/\/__

O(

Locate the Ground fix Post
into the leg of the
instrument frame and
insert threaded bar into
lower section and fix with
bzp nuts.

Lower ground Fix post

attached to instrument
frame into hole (check
instrument straight and
level before filling with

concrete)

900mm min depth

Fix instrument frame to
Ground fix post using M10
® bolt and Barrel Nut and
use thread locking
solution to prevent
fixings working loose.

Excavate a holes with a
300mm wide by 700mm
length and 900mm depth

3
[c @
N M1
@
N—A1
@
~—7

Tools:

S«

TX 45 Driver Bit

Minimum Ground Fix
depth of 900mm

Q|

Fix hole with fast drying
concrete to manufacturers
specifications.

900




